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Out of the box, lacopo’s production

double SPMTraw=evt->SPMTenergy;
dofflble CPMTraw=evt->CPMTenergy;
double SSiPMraw=evt->totSiPMSene;
double CSiPMraw=evt->totSiPMCene;

totallr->Fill((0.5*(CSiPMraw+CPMTraw)+0.5*(SSiPMraw+SPMTraw)) ) ;
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Try to improve:

Set an electron definition for beam
Set a beam fiducial

For a 20 GeV positron set the energy which should be
measured in the central cell and in the sum of external cells
corresponding to this fiducial

Scale the average of the total energy measured in the central
cell and in the sum of PMT cells to the values of previous bullet
for both scintillator and Cerenkov, obtaining 4 scale factors.

Scale to 20 GeV to correct for leakage, obtaining an additional
scale factor.

Use the 5 obtained scale factors to calculate energy and
resolution for all the energies
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Omitting the 10 GeV point
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Noise from PMTS

0.5*(SPMTenergy+CPMTenergy) {TriggerMask==6}

htemp
— Entries 2530
~ Mean —9.999e-08
~ Std Dev 0.1863
100— %2 ndf 103.2/79
B Prob 0.03502
B Constant 8523 +£2.23
B Mean 0.008884 + 0.003582
80— Sigma 0.1751+£0.0029
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0.5*(SPMTenergy+CPMTenergy)

175 MeV, dominated by ~300 MeV of Cerenkov Tower 1
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Noise from SIPMs

SiPMPheS|[20] {SiPMPheS[20] |=0 && SiPMPheS[20]<0.015}

htemp
J_ Entries 9531
Mean 0.003632
Std Dev 0.004753
%2 / ndf 466.2/17
Prob 0
Constant 559.5+10.8
Mean —0.0001065 + 0.0000110
Sigma 0.0006892 + 0.0000088
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~0.6/MeV/chan Scintillator

SiPMPheC[20] {SiPMPheC[20] =0 && SiPMPheC[20]<0.015}

htemp
— Entri 10397
1000 Iy MZQET ® 0.001681
[ Std Dev 0.004938
- " 32/ ndf 2342/ 41
= \ Prob o]
800 Constant 893 +13.9
| I Mean -0.000551+ 0.000026
/' Sigma 0.002109 + 0.000023
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~2 MeV/chan Cerenkov

Only channels for which at least one SiPM in a FERS is above pedestal

are read out.

| haven't tried to look if there is any noisy channel
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